20 20 23 24 27 28 31 32 35 36 39 40 43
0 0 0 0 0
0 0 0 0 1 0
44 47 48 51 52 55 56 59 60
0 1 1 1 0
0 1 0 1 0 3
2 21 22




A (B) (B)/(A)
280,996 68,007 24.2 %
A)
(B) (B)/(A)
9 34,844 5995 13,279 54,118 6,013
172,200 140,100
181,200
140,100
172,200
347,920 402,750 476
259,600 310,485 42,0
10 10 15 15 20
0 269,600 314,800
0 234,600 270,200
20 25 25 30 30 35
370,100 390,560 424,678
0 0 0 372,700
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0 3 2 0 1 0
0% 0% 50.0% 33.3% 0% 16.7% 0% 0%
12 00
45 45 8 30 17 15 13 00
39
2
360 108 9 12.0 30.0%
11 31
3 17
9 27
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